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(#® 4 3x% ~ 28x = 62) + (x + 6)

(x* = 2% — 52x2 + 36x ~ 28) + (x ~ 8)

@3 ~ | &)
(m* ~ 8m® + 8m — 69) + (m ~ 8) (9x° « 73x% + T1x - 10) + (x~7)

0 - | @
(B +4b2 —6b+2) = (b—-1)  (4k*+32K° — 45K — 87k~ 64) + (k +9)

(~3a° +a* - 474> ~21 + 37a) + (a+6)
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-x—-80<x=<3 R
f(x)={-x*+7,-2=<x=<0 aNE ij,f, - :j.f B sannaan

I xl,x<-2 1 o

i
k2

(il Graph the function. T

2] what is the Domain? _ S
(3] Evaluate £ (o)‘- @ Graluote F(-70) R . /
Cvoluote (2 | &) Cvo)uate £ (1)
(8 Evaluade F(-3) Sluate £(3)
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@ Graph the function.

What is the Domain?

T Evolucte ¥ () | | - ::fi ':'.' 1
12) Evaluste £(-7) ,EE Evoluote T £(~%) @v;\uoér.e ;
@' Eveduste £( ') 15 Cvoluode © £ (10) | £ (20)




